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Vector PQ is identified by 3 things: > P/

1. Length of PQ: |PQ| (A

2. Direction of PQ: epq } <L\ _ %? P
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3. Sometimes we also care about base point P QPQ ‘\S @( \Wﬁ\\f

(often we don't care about this).

If we differentiate vectors by their base point as well, &\ d\M : Q‘.( QR
they are called bound vectors
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We use inner product to compute the project of btoaoratob.
In general we use inner product for projection operators.
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A few examples:
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Note about HW1

5. (20 Points) Show that the components of the inverse of a matrix satisfy,
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5. (20 Points) Show that the components of the inverse of a matrix satisfy,
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